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OAAL QAXeAS 50,000,000& 50,000
HY2AZH(ZSH)(JIEH/DIIEH 112,550 110,263 2,287
A2 54,974 52,687 2,287
A2 A 54,974 52,687 2,287
101 Q14| 54,974 52,687 2,287
01 2=+ 54,974 52,687 2,287
(O~ 54,974
obg 9,796& x1H «40A| 2+ 12& 4,703
SLI= 8,312 «4H «40A| 2tx 123 15,960
o7g 7,457 3«4 B «40A| 2t 123 14,318
=88 6,682 x2H «40Al 2tx 123 6,415
=98 5,993 x2H »40Al 2tx 122 5,754
=J|ls10= 5,422 «2 B *40A| 2tx 128 5,206
o X R 52,356,000 *5% 2,618
=&l 57,576 57,576 0
Jl=2& | 57,576 57,576 0
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01 AtER22/Hl 8,376 8,376 0
oget=gH| 4,000,000 4,000
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odxt= 2,376,000& 2,376
02 =234l 3,000 3,000 0
OS2I X AHA 3,000,000& 3,000
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01 =Wl 36,000 36,000 0
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01 J|22SEHRF=&HI 6,600 6,600 0
oHzgZ 6,600,000 6,600
02 HANMMHRF=EHI 600 600 0
OXAAIIEZ HH| 40,0003 x15% 600
04 FN2IHRFAHI 3,000 3,000 0
ORNMEE gRFAHI 250,000& «12& 3,000




